Bt 146

HiGIXIH 32

Al H VR

(20214 )
TEEAR [EREE,
T ] RN L D SRR RN S
ERTBER| SRR SAEHITHL i | R oy
i H %4 AR 4 VB 712.5 712.5 0 10 0.00% 0
(Ji78) Hob, AR ER R 600 600 0 — —
ALY 4 1125 112.5 0 — —
TV 4 — —
. T b SEBRSE A B
VA (20214635 H @4 N 712,575 98, S HAR: 7552 FIAKANE I TAE, #hlf - o v
VA preilayin b e, 10 RS, T YA b S
__.Y yA
| ot =gt SR | Sbisena | e | e "*ﬁfﬁgg
e
BRI | S5 TR B jﬁﬁgo'}\%ﬂ’
Jf[f Fiidehr | 48451 T E RI% =90%
5
b
B3 bR | $845R1: MAESEALI H &2 K 20214E12H
" AR | S5bRL: ALK BT 60077 7T
%
&
iR ZHRGE | o 3 = ; i PENG IR, T H AR
b | ARHRL: SV 55 0 B A Ry FAEAR T o S L
X Lk
% fi;fffm SebRL: WRHIANE, WA AL AR AR T
% RGN
&
| s | o
ot
TSR | gern, S EIbRRN KA
h!/ul‘ﬂ*l:(*/\
i | st
prss | WEEREE | HehRL. AR FF90%
| st
53 g 100




Bt 146

HIGIXWH 32

il H VT

(20214£% )
LA DL T T A2 T
TET] RN e N
EREETS | atEmiTE LA i | warz |
WHE S R e BB 79 79 77.62 10 98.25% 9.8
(FIL) Horpr, AR EL R 79 79 77.62 — —
I 0 0 0 — —
S 0 0 0 — —
i L SebRo
S Ao R B, TR () A B RRKGamyy, FHE , o )
B (A s (=) AW AP EAPECHT K FlfR, SLETR: g | o 12021t S HONTT2 00, IJCH T T Ari
W47 R S SE PR, A Il e A P °
.y N
BT =Ygk ERedstRiE |ssemin | s | e Lol
fetR1: FHEIRE AR EAE LA A 2 5
febio: s 191 15 2 5
Tohis: ZIA M A AT O
133 139 2 2
Koty |2 s ’
HebRd: PRI TR | .
ket i, et gmymes | R 2 2
$5b75: PR I LT 191 15 2 5
e | AR | ERL: PRRERR . AR 0% 0% 10 10
B SabRL: A PRI INFATHER |INFATHR | 5 5
B\ wrcit
A $bR2. PRI INFIATAER [/NF3ATAHEA 5 5
SebiL: B L 5L 5T 2 5
4 FBbR2: TALIRE — N H A I B UE 1003 7C 10/ 78 2 2
%
< $5H73: ZHCAIR A P TR R e [ _
b WA |am 30570 29.4777G 2 1.5
FEbR4: R YEp 25J7 G 257 7T 2 2
$5b75: IR ERIER . T | ~
HAREM . Jbscssi s i |27 822A7m 2 15
%ﬁﬁ JEhiL 1 0 I H AW K
T
. PR | gt APECRI - B Foik [k 9 | 19
e i
TR | ARl zs B ]
L7 ’Ilzx{lﬁn okl - 1 0 2O H AW X
*EI*/T\‘
=V
RIS ) S A A FrE T FrsE g 19 | 19
A R iy 7
SobRL: ASTEANTIA B B KF80% K F80% 6 6
iz | s g
deds | R | dsbo. MR KF80% KF80% 6 6
|tk
T | krs: APEC R AR R KF80% KF80% 8 8
B i 100 97




Bt 146

HiGIXIH 32

Al H VR

(202147 )
AR LSRR,
T ] N LS SR RN LS
R AtEE AR mi | wx | e
S H Y4 CETEGE G 380 380 238.57 10 62.78% 6.3
(L) Horprs étﬁ#m‘iwz 380 380 238.57 — —
AEGEELY 4> 0 0 0 — —
,ﬁ\ﬁuj% 0 0 5 — —
. L SRR
A | 20214E 550 H % 44438007 7T, AR FbR: B bRk SOMIL 55 TR, PRpESh 2021@?1‘5‘%/\3@%%7 N238.57 7. BHar TAER
FURR |0l %5 T 08 A BT K521 TERATEEAN, FAIN 5 TARIE 580,
—Z . . — — N e =R 4 ]
| o ~yigstn sppegeknin |scbroenen | o | e
SERRL: RO T . A KB B
SN T S R 2 T A LR LR 2 2
SER2: AR T {E it it 2 >
worrriie | sorn e . KFs0p | TO0TH e, AT AN
B hn FePR3: RN X N 40, 500 A% fg, 157N 2 1 20 ] BRI
sobrd: TS A zgff,f WL | esrm 5 0 | metmm, TR
o \ KT, | K TFe
N - FEARL: AR 1351 175 5 5
Wl " hbrz. SML. FEOFASUE EALEAR |100% 100% 5 5
§ FRPRL: IS4 B T AE S AT A] 20214124 2021412 A 3 3
V| st | Job2: ek il am ATFSE | ATRR 3 3
o i WARGR s [kTstanr (ST
o
@;é FebR1: BEFR A K ANBL 1005 7C 1005 7T 2 2
b Jebr2: HABAIEAN L % TR 1105778 93.63J7 7T 2 15 |, O TAEA
WA RR | A3 IMVAB A I E T A 20J77C 16.6871 7T 2 2
Tebid: BRI . KR KRN — EtRE, W TR
SR A R 4 TR 50575 28.26J17G 2 1.5
SRS UL K 100777 KT 2 0 | emm, THARIR
WA | porey | sl e Raniism s | AL 10 0
ek [ERANE MY, ) {e TR M BAEEET AT 1
Ll Il o
o *i;;;?l HebRL: BN, WIS A st st | o 9
v /)N
H
= Ik 2%
Rl FEE 1 0 R FL K T
S ] — o — £y =l =)
;ué;% SobRL: R RN ) JeAR T Jokag |20 20
x| st
FEFR | W | $8R1. U AR KF90% KF90% 20 20
A
B i 100 93




Bt 146

HiGIXIH 32

Al H VR

IERE
ERYNI
iz [

(202141 )
T H £ %% Sh B 55 Kt o
LI EHA X ARSI A St A TEAMEEIEE
AERITEA AT EHATEL SME | PUTER 53
T H %4 SRS A 30 30 30 10 100.00% 10
(J378) Horp: MR K 30 30 30 — —
IR liie — —
HAb¥i 4 — —
i) H 5 SR UG B

ATE %44 N30T 6, FETE N
RELR, s R BB,

75 LIRS BB IX AR R T AR
HE— 25 R K

%ﬂTEﬁl\

WETHRSLRRE ) o 2. 58 AR B AA EZAEN, e s

A, &R TR

B H kg AR

LRy Hbr

i F EH%IWER,EW

2021410 H W8 4x 32 &% 3007 T,

Bl 5K,

WIFT 5

ISR e T EEA

HOMETRRSHRRE ), PR T B
PEERIH W LA ST o

—Y . _ . _ . PR . 2= R b
| st — gt SR |Shiseka | o | e ‘ﬁ;fﬁ'gﬁg”
SebRL: RIMERIIBE *Fom | kFem | 3 3
Bomsetn | T2 IREA SURSME I PN N KT3A 3 3
JebR3: EDRIBPEYOR 14t 14t 4 4
7= B
iy | BUREEAR | $8ARL: IR AR =90% =90% 10 10
&
wl ..
B3R bR | F8hmL: B5UISE AR 100% 100% 10 10
fz JEERL: B2 KFo0nRT | 24Kt 3 3
=)
=] N .
i BASEHS | yekro. Epfiger KForE | 39 3 3
SabR3: Ak Ko | 37 4 4
Qégﬁlﬁ b1 1 0 e
o *iff;ﬁ HEBRL: TS ISR S wasat | mens | o9 | 1
ﬁ
g Szl 24
i | R b ! 0 e 0]
d 4
Bkl TGS L T2 20R aesst | st | 10 [ 19
Vi | A
s | e | HehRL. i AR =90% >90% | 20 20
bR | fehE
J=3 s 100 98




